

2017-07 POW

259

• $f(\theta)$ is increasing on $\theta > 0$.

$$f'(\theta) = \sum_{n=1}^{\infty} \left(\frac{3}{(n+3\theta)^2} - \frac{1}{(n\theta)^2} \right) \text{ since this sum uni. conv.}$$

$$\text{on compact interval since } \sum_{n=N}^{\infty} \frac{1}{(n\theta)^2} \leq \sum_{n=N}^{\infty} \left(\frac{1}{n\theta} - \frac{1}{(n+1)\theta} \right) = \frac{1}{N\theta} \rightarrow 0$$

as $N \rightarrow \infty$ uniformly on compact interval, and $f(\theta)$ is convergent, $\left(\frac{1}{n\theta} - \frac{1}{(n+1)\theta} = \theta \left(\frac{1}{n^2} \right) \right)$

so we can interchange diff. and infinite sum.

$$\text{Also, } \frac{3}{(n+3\theta)^2} \geq \frac{3}{(n+3\theta)} - \frac{3}{(n+3\theta+1)}$$

$$\text{and } \frac{1}{(n\theta)^2} \leq \frac{1}{(n\theta - 1/2)} - \frac{1}{(n\theta + 1/2)}$$

$$\text{so } f'(\theta) \geq \frac{3}{1+3\theta} - \frac{1}{1/2+\theta} \geq 0 \text{ for all } \theta > 0$$

$$\text{Now } \sup_{\theta > 0} f(\theta) = \lim_{M \rightarrow \infty} f(M) \quad (\text{MGN})$$

$$f(M) = \lim_{N \rightarrow \infty} \sum_{n=1}^N \left(\frac{1}{n+M} - \frac{1}{n+3M} \right) = \lim_{N \rightarrow \infty} \sum_{n=M+1}^{3M} \frac{1}{n} - \sum_{n=2M+1}^{3M} \frac{1}{n}$$

$$= \sum_{n=M+1}^{3M} \frac{1}{n} \text{ since } \sum_{n=2M+1}^{3M} \frac{1}{n} \leq \frac{2M}{M+1} \rightarrow 0 \text{ as } N \rightarrow \infty$$

$$\ln \left(\frac{3M+1}{M+1} \right) = \int_{M+1}^{3M+1} \frac{1}{x} dx \leq f(M) \leq \int_M^{3M} \frac{1}{x} dx = \ln 3$$

$$\text{so } \sup_{\theta > 0} f(\theta) = \lim_{M \rightarrow \infty} f(M) = \ln 3$$